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0000010210200 20 2003,5,7,11,13,17000000 10000000

856299 = 3 x 285433 x 1

oooo
2P + 1 = 3(340340n + 285433)

oooooooob3sooooooboobooooooobooooooooboboooooobbBbOoOo
ooo

Q=4281590000
P = 510510n + 428159

2P + 1 = 2(510510n + 428159) 4+ 1 = 10210201 + 856318 + 1 = 10210201 + 856319
0000010210200 20 2003,5,7,11,13,17000000 1000000
856319 = 443 x 1933 x 1
0000 10210200000000000000
2P + 1 = 510510m + 345809

gboboobogobogbooboobboobbooobuoooboon

Q=4281610000
P = 510510n + 428161

2P 4+ 1 =2(510510n + 428161) + 1 = 10210201 + 856322 + 1 = 10210201 + 856323

0000010210200 20 2003,5,7,11,13,17000000 10000000

856323 =3 x 3 x 13 x 13 x 563 x 1

oooo
2P + 1 = 39(26180n + 21957)

gooooooOo3oooooooboboooooboooooDobDooDUobDOoboboboOooboo
good
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Q=4281670000
P = 5105100 + 428167

2P + 1 = 2(510510n + 428167) 4+ 1 = 10210201 + 856334 + 1 = 10210201 + 856335
0000010210200 20 2003,5,7,11,13,17000000 10000000

856335 = 3 x 5 x 57089 x 1

oooo
2P + 1 = 15(68068n + 57039)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
goog

Q=4281710000
P =510510n + 428171

2P + 1 = 2(510510n + 428171) 4+ 1 = 10210201 + 856342 + 1 = 10210201 + 856343
0000010210200 20 2003,5,7,11,13,17000000 1000000

856343 = 856343 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 345833

gboboobooobooboboobboobboobooobooo

Q=4281730000
P =510510n + 428173

2P + 1 =2(510510n + 428173) + 1 = 10210201 + 856346 + 1 = 1021020n + 856347

0000010210200 20 2003,5,7,11,13,17000000 10000000

856347 = 3 x 131 x 2179 x 1

oooOo
2P + 1 = 3(340340n + 285449)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=4281770000
P = 510510n + 428177

2P 4+ 1 =2(510510n + 428177) + 1 = 1021020n + 856354 + 1 = 10210201 + 856355
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0000010210200 20 2003,5,7,11,13,17000000 10000000

856355 =5 x 171271 x 1

ooono
2P + 1 = 5(204204n + 171271)

ooooooooboso0oooobobooooooobooooooobooOoboboooooobbOBbOoOn
ooo

Q=4281890000
P =510510n + 428189

2P 4+ 1 = 2(510510n + 428189) + 1 = 10210201 4 856378 + 1 = 1021020n + 856379
0000010210200 20 2003,5,7,11,13,17000000 1000000

856379 = 61 x 101 x 139 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 345869

gbbogobogoboobboobboobboobuoonboob

Q=4281910000
P =510510n + 428191

2P + 1 = 2(510510n + 428191) 4+ 1 = 10210201 + 856382 + 1 = 10210201 + 856383
0000010210200 20 2003,5,7,11,13,17000000 10000000

856383 = 3 x 11 x 25951 x 1

oooo
2P + 1 = 33(30940n + 25951)

oooooooos3ooooooooooooooooooboooooOoboooooboOoooDoobOn
oooo

Q=428201 0000
P = 510510n + 428201

2P + 1 =2(510510n + 428201) + 1 = 10210201 + 856402 + 1 = 1021020n + 856403

0000010210200 20 2003,5,7,11,13,17000000 1000000

856403 = 541 x 1583 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 345893
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gboboobogobogoboboobboobooobooooboon

Q=4282030000
P = 510510 + 428203

2P 4+ 1 =2(510510n + 428203) + 1 = 10210201 + 856406 + 1 = 10210201 + 856407

0000010210200 20 2003,5,7,11,13,17000000 10000000

856407 = 3 x 285469 x 1

oooo
2P + 1 = 3(340340n + 285469)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=4282090000
P = 510510n + 428209

2P 4+ 1 =2(510510n + 428209) + 1 = 10210201 + 856418 + 1 = 10210201 + 856419

0000010210200 20 2003,5,7,11,13,17000000 10000000

856419 = 3 x 285473 x 1

oooo
2P + 1 = 3(340340n + 285473)

obobobooo3oboboboooooboboooobobUobooboDoboboobOobDoooo
goo

Q=428221 0000
P =510510n + 428221

2P 4+ 1 =2(510510n + 428221) + 1 = 1021020n + 856442 + 1 = 10210201 + 856443

0000010210200 20 2003,5,7,11,13,17000000 10000000

856443 =3 x 7 x 17 x 2399 x 1

oooo
2P + 1 = 357(2860n + 2399)

oooooooossrooooooooooboooooooooboboooooooooobobbOooo
oooo

Q=4282270000
P =510510n + 428227

2P + 1 =2(510510n + 428227) + 1 = 1021020n + 856454 + 1 = 10210201 + 856455
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0000010210200 20 2003,5,7,11,13,17000000 10000000

856455 =3 x 5 x 57097 x 1

oooo
2P + 1 = 15(68068n + 57097)

oooooooolooooooooooooooobooooboooooboboooobooboOoooDbOn
oooo

Q=4282310000
P = 510510n + 428231

2P 4+ 1 = 2(510510n + 428231) 4+ 1 = 10210201 + 856462 + 1 = 1021020n + 856463
0000010210200 20 2003,5,7,11,13,17000000 1000000

856463 = 19 x 45077 x 1

o000 102102000 000000000000

2P 4+ 1 =510510m + 345953

gbboobogoboobboobboobbooobuoonboob

Q=4282370000
P =510510n + 428237

2P + 1 = 2(510510n + 428237) 4+ 1 = 10210201 + 856474 + 1 = 10210201 + 856475
0000010210200 20 2003,5,7,11,13,17000000 10000000

856475 =5 x 5 x 34259 x 1

oooo
2P + 1 = 5(204204n + 171295)

oooooooobosoooooobobooooooobooooooobooOobobooooobboBbOoOn
ooo

Q=14282430000
P =510510n + 428243

2P + 1 =2(510510n + 428243) + 1 = 1021020n + 856486 + 1 = 10210201 + 856487

0000010210200 20 2003,5,7,11,13,17000000 1000000

856487 = 856487 x 1

OO000 10210200 000000000000

2P 4+ 1 =510510m + 345977
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gboboobogobogoboboobboobooobooooboon

Q=4282490000
P = 510510n + 428249

2P 4+ 1 =2(510510n + 428249) + 1 = 10210201 + 856498 + 1 = 10210201 + 856499

0000010210200 20 2003,5,7,11,13,17000000 10000000

856499 =7 x 31 x 3947 x 1

oooo
2P + 1 = 7(145860n + 122357)

goooooogovyoooooooooooooOoboobDoobDOoobbOODbDoOOobboUOoDboO
goo

Q=4282510000
P = 510510n + 428251

2P + 1 =2(510510n + 428251) + 1 = 10210201 + 856502 + 1 = 10210201 + 856503

0000010210200 20 2003,5,7,11,13,17000000 10000000

856503 =3 x 3 x 59 x 1613 x 1

oooo
2P + 1 = 3(340340n + 285501)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=4282570000
P =510510n + 428257

2P + 1 =2(510510n + 428257) + 1 = 1021020n + 856514 + 1 = 10210201 + 856515

0000010210200 20 2003,5,7,11,13,17000000 10000000

856515 =3 x5 x 11 x 29 x 179 x 1

oooo
2P + 1 = 165(6188n + 5191)

oooooooolesooooooooooboboooooooobooboooooooooobobbOooo
oooo

Q=14282610000
P = 510510n + 428261

2P 4+ 1 =2(510510n + 428261) + 1 = 10210201 + 856522 + 1 = 10210201 + 856523
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0000010210200 20 2003,5,7,11,13,17000000 1000000

856523 = 173 x 4951 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 346013

goboobooobooboboobboobbooboooboon

Q=4282690000
P =510510n + 428269

2P + 1 = 2(510510n + 428269) + 1 = 10210201 + 856538 + 1 = 10210201 + 856539
0000010210200 20 2003,5,7,11,13,17000000 10000000

856539 = 3 x 3 x 19 x 5009 x 1

oooOo
2P + 1 = 3(340340n + 285513)

gbooboooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=4282730000
P =510510n + 428273

2P 4+ 1 =2(510510n + 428273) + 1 = 1021020n + 856546 + 1 = 10210201 + 856547
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
856547 = 856547 x 1
o000 10210200 000000000000
2P + 1 = 510510m + 346037

ooboobooobooboboobboobboobooobooo

Q=4282790000
P =510510n + 428279

2P + 1 =2(510510n + 428279) + 1 = 10210201 + 856558 + 1 = 10210201 + 856559

0000010210200 20 2003,5,7,11,13,17000000 10000000

856559 = 11 x 11 x 7079 x 1

oooo
2P + 1 =11(92820n + 77869)
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gboooooobonooooobooooooboooboobo0obooboboooobOoobOoo
goog

Q=4282870000
P =510510n + 428287

2P 4+ 1 =2(510510n + 428287) + 1 = 10210201 + 856574 + 1 = 1021020n + 856575

0000010210200 20 2003,5,7,11,13,17000000 10000000

856075 =3 x 3 x3Xx3x3x3IxHxHx47Tx1

oooOo
2P + 1 = 15(68068n + 57105)

o00o0ooO0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=4282910000
P = 510510n + 428291

2P + 1 =2(510510n + 428291) + 1 = 10210201 + 856582 + 1 = 10210201 + 856583

0000010210200 20 2003,5,7,11,13,17000000 10000000

856583 =7 x 13 x 9413 x 1

oooo
2P + 1 =91(11220n + 9413)

gooooooOo9lboobooO0oOoUobO0bOOobOoU0oOUoOOoDOobDOo0oDOobDOobDoOOboOooO
good

Q=4282930000
P =510510n + 428293

2P + 1 = 2(510510n + 428293) + 1 = 10210201 + 856586 + 1 = 10210201 + 856587
0000010210200 20 2003,5,7,11,13,17000000 10000000

856587 =3 x 37 x 7717 x 1

good
2P + 1 = 3(340340n + 285529)

g0obobooo30bobobooooobobooDoobobobDoboDobooobUobDOooDoo
goo

Q=428297 0000
P = 510510n + 428297
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2P + 1 =2(510510n + 428297) + 1 = 1021020n + 856594 + 1 = 1021020n + 856595

0000010210200 20 2003,5,7,11,13,17000000 10000000

856595 =5 x 67 x 2557 x 1

oooo
2P + 1 = 5(204204n + 171319)

gboboobooosOobobobooobooboboboobobOobobDobDobobOoOobOobOoboOoo
goo

Q=14282990000
P =510510n + 428299

2P + 1 = 2(510510n + 428299) + 1 = 10210201 + 856598 + 1 = 10210201 + 856599
0000010210200 20 2003,5,7,11,13,17000000 10000000

856599 = 3 x 285533 x 1

good
2P + 1 = 3(340340n + 285533)

o00ob0ooO0oo30b00b0oboooooboobooDoboboobobODobDobOoobOoDOoDOon
goo

Q=4283030000
P = 510510n + 428303

2P + 1 = 2(510510n + 428303) + 1 = 10210201 4 856606 + 1 = 10210201 + 856607
0000010210200 20 2003,5,7,11,13,17000000 1000000
856607 = 97 x 8831 x 1
0000 10210200000000000000
2P + 1 = 510510m + 346097

gbobogobooobooboboobboobbooobuooooboon

Q=4283170000
P =510510n + 428317

2P 4+ 1 =2(510510n + 428317) + 1 = 1021020n + 856634 + 1 = 10210201 + 856635

0000010210200 20 2003,5,7,11,13,17000000 10000000

856635 =3 x5 x 13 x 23 x 191 x 1
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oooo
2P + 1 = 195(5236n + 4393)

oboobobgoolysoooooooobooboboooooooobobUoboboDooOoooo
good

Q=4283210000
P =510510n + 428321

2P 4+ 1 = 2(510510n + 428321) 4+ 1 = 10210201 4 856642 + 1 = 1021020n + 856643
0000010210200 20 2003,5,7,11,13,17000000 1000000

856643 = 83 x 10321 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 346133

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=4283270000
P = 510510n + 428327

2P + 1 = 2(510510n + 428327) + 1 = 10210201 + 856654 + 1 = 10210201 + 856655
0000010210200 20 2003,5,7,11,13,17000000 10000000

856655 =5 x 73 x 2347 x 1

oooo
2P + 1 = 5(204204n + 171331)

o0obOobooos0b0b0bO0ob0U0o0b0bOO0obOUobObO0obOobOOobDOobOOoOobUOobDOobDOoo
goo

Q=4283330000
P = 510510n + 428333

2P + 1 =2(510510n + 428333) + 1 = 1021020n + 856666 + 1 = 10210201 + 856667

0000010210200 20 2003,5,7,11,13,17000000 10000000

856667 =7 x 7 x 17483 x 1

oooo
2P + 1 = 7(145860n + 122381)

goooooogvyooooOoooOobooOoOoOoO0obOoU0obDOoOobOoOobbOODbDOoOobboUODboO
goo
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Q=4283390000
P = 510510n + 428339

2P + 1 = 2(510510n + 428339) 4 1 = 10210201 + 856678 + 1 = 10210201 + 856679
0000010210200 20 2003,5,7,11,13,17000000 1000000

856679 = 743 x 1153 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 346169

gbobooobogobooboboobboobooobuoooboon

Q=428341 0000
P = 510510n + 428341

2P 4+ 1 =2(510510n + 428341) + 1 = 10210201 + 856682 + 1 = 10210201 + 856683

0000010210200 20 2003,5,7,11,13,17000000 10000000

856683 =3 x 3 x 3 x 31729 x 1

oooo
2P + 1 = 3(340340n + 285561)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=4283470000O
P = 5105100 + 428347

2P + 1 =2(510510n + 428347) + 1 = 1021020n + 856694 + 1 = 10210201 + 856695

0000010210200 20 2003,5,7,11,13,17000000 10000000

856695 =3 x5 x 7x41 x 199 x 1

oooo
2P + 1 = 105(9724n + 8159)

gbooboboobolesoboooooooboobobOoboooobooOobobUobobDoboDoooo
good

Q=4283530000
P = 510510 + 428353

2P 4+ 1 =2(510510n + 428353) + 1 = 10210201 + 856706 + 1 = 1021020n + 856707
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0000010210200 20 2003,5,7,11,13,17000000 10000000

856707 = 3 x 285569 x 1

oooo
2P + 1 = 3(340340n + 285569)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q=4283570000
P = 5105100 + 428357

2P + 1 = 2(510510n + 428357) + 1 = 10210201 + 856714 + 1 = 10210201 + 856715
0000010210200 20 2003,5,7,11,13,17000000 10000000

856715 =5 x 17 x 10079 x 1

oooo
2P + 1 = 85(12012n + 10079)

oOooOooOooOosoOoooooobobooooooooooDobDooDobDOoboooboooo
good

Q=4283590000
P = 510510n + 428359

2P + 1 =2(510510n + 428359) + 1 = 10210201 + 856718 + 1 = 10210201 + 856719
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

856719 =3 x 3 x 95191 x 1

oooo
2P + 1 = 3(340340n + 285573)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=4283690000
P = 5105100 + 428369

2P 4+ 1 =2(510510n + 428369) + 1 = 1021020n + 856738 + 1 = 10210201 + 856739

0000010210200 20 2003,5,7,11,13,17000000 10000000

856739 =13 x 59 x 1117 x 1

oooo
2P + 1 = 13(78540n + 65903)

155



go0oOdo0obO0o3oooo0ooobo0obooOooU0ooUooooOOobDOoUoDOobDOoboooooog
goog

Q=4283710000
P =510510n + 428371

2P + 1 = 2(510510n + 428371) 4+ 1 = 10210201 + 856742 + 1 = 10210201 + 856743
0000010210200 20 2003,5,7,11,13,17000000 10000000

856743 = 3 x 347 x 823 x 1

oooo
2P + 1 = 3(340340n + 285581)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=4283770000
P = 510510n + 428377

2P 4+ 1 = 2(510510n + 428377) + 1 = 10210200 + 856754 + 1 = 10210201 + 856755
0000010210200 20 2003,5,7,11,13,17000000 10000000

856755 =3 x 3 x5 x 79 x241 x 1

oooo
2P + 1 = 15(68068n + 57117)

ooooooooiboooobooooobobooobooboobooboboooobOoobOoo
good

Q=428381 0000
P =510510n + 428381

2P + 1 = 2(510510n + 428381) 4 1 = 10210201 + 856762 + 1 = 10210201 + 856763
0000010210200 20 2003,5,7,11,13,17000000 1000000
856763 = 47 x 18229 x 1
0000 10210200000000000000
2P + 1 = 510510m + 346253

gbooboobooobooboboobboobboooboooboon

Q=428387 0000
P = 510510n + 428387

2P 4+ 1 =2(510510n + 428387) + 1 = 1021020n + 856774 + 1 = 1021020n + 856775
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0000010210200 20 2003,5,7,11,13,17000000 10000000

856775 =5 x5 x 43 x 797 x 1

oooo
2P + 1 = 5(204204n + 171355)

o0dobOooOOo0os000b0b00O0O00ObO0ODbDObOOObOO0ObDObDObDObOOODbDObDODbDOn
goo

Q=4283990000
P = 510510n + 428399

2P + 1 = 2(510510n + 428399) + 1 = 10210201 + 856798 + 1 = 10210201 + 856799
0000010210200 20 2003,5,7,11,13,17000000 1000000

856799 = 856799 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 346289

gboboobogobooboboobboobbooobuoonooboon

Q=428401 0000
P = 510510n + 428401

2P + 1 = 2(510510n + 428401) 4 1 = 10210201 + 856802 + 1 = 10210201 + 856803
0000010210200 20 2003,5,7,11,13,17000000 10000000

856803 = 3 x 89 x 3209 x 1

oooo
2P + 1 = 3(340340n + 285601)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=4284110000
P =510510n + 428411

2P + 1 =2(510510n + 428411) + 1 = 10210201 + 856822 + 1 = 10210201 + 856823

0000010210200 20 2003,5,7,11,13,17000000 10000000

856823 =11 x 77893 x 1

oooo
2P + 1 =11(92820n + 77893)
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gboooooobonooooobooooooboooboobo0obooboboooobOoobOoo
goog

Q=4284130000
P =510510n + 428413

2P + 1 = 2(510510n + 428413) + 1 = 10210201 + 856826 + 1 = 10210201 + 856827
0000010210200 20 2003,5,7,11,13,17000000 10000000

856827 = 3 x 3 x 95203 x 1

oooo
2P + 1 = 3(340340n + 285609)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=4284190000
P = 5105100 + 428419

2P 4+ 1 = 2(510510n + 428419) + 1 = 10210201 + 856838 + 1 = 1021020n + 856839
0000010210200 20 2003,5,7,11,13,17000000 10000000

856839 = 3 x 285613 x 1

oooOo
2P + 1 = 3(340340n + 285613)

obooboobooo3obobobooooobobooooboboboobDooboobOobDOoooo
goo

Q=4284230000
P =510510n + 428423

2P + 1 = 2(510510n + 428423) + 1 = 10210201 + 856846 + 1 = 10210201 + 856847
0000010210200 20 2003,5,7,11,13,17000000 1000000
856847 = 856847 x 1
0000 10210200000000000000
2P + 1 = 510510m + 346337

gbooboobooobooboboobboobboooboooboon

Q=42842900000
P = 5105100 + 428429

2P 4+ 1 =2(510510n + 428429) + 1 = 10210201 + 856858 + 1 = 10210201 + 856859
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0000010210200 20 2003,5,7,11,13,17000000 1000000

856859 = 41 x 20899 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 346349

goboobooobooboboobboobbooboooboon

Q=4284310000
P = 510510n + 428431

2P + 1 = 2(510510n + 428431) 4+ 1 = 10210201 + 856862 + 1 = 10210201 + 856863
0000010210200 20 2003,5,7,11,13,17000000 10000000

856863 =3 X I X TXTx29x67x1

oooOo
2P + 1 = 21(48620n + 40803)

oboobooobo21000obobo0ob0oobobooo0b0oo0bo0obooboboooobOobobOoo
good

Q=4284370000
P = 510510n + 428437

2P + 1 = 2(510510n + 428437) 4+ 1 = 10210201 + 856874 + 1 = 10210201 + 856875
0000010210200 20 2003,5,7,11,13,17000000 10000000

856875 =3 x5 x5 x5HxHx457 x 1

oooo
2P + 1 = 15(68068n + 57125)

ooooooboOobooboooooboboooooooooDoobDOooDOobDOobooboOooo
good

Q =428443 0000
P = 510510n + 428443

2P + 1 =2(510510n + 428443) + 1 = 10210201 + 856886 + 1 = 1021020n + 856887

0000010210200 20 2003,5,7,11,13,17000000 10000000

856887 = 3 x 285629 x 1

oooo
2P + 1 = 3(340340n + 285629)
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goo

Q=4284470000
P = 510510n + 428447

2P + 1 = 2(510510n + 428447) 4+ 1 = 10210201 4 856894 + 1 = 10210201 + 856895
0000010210200 20 2003,5,7,11,13,17000000 10000000

856895 =5 x 13 x 13183 x 1

oooo
2P + 1 =65(15708n + 13183)

O0000O00boe000000D000ODOOOODOODODOODOODODUOODDODODOD
good

Q=4284530000
P = 5105100 + 428453

2P 4+ 1 = 2(510510n + 428453) + 1 = 10210201 + 856906 + 1 = 10210201 + 856907
0000010210200 20 2003,5,7,11,13,17000000 1000000

856907 = 433 x 1979 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 346397

gbbooggbogoboobbugobboobbooobuoonbagn

Q=4284590000
P =510510n + 428459
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